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Which model should we use on some data?
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Which model should we use on some data?
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Let’s fit some models on the training data



Which model should we use on some data?

Polynomial order: 15
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MSE¢ain = 0.0243



Which model should we use on some data?

Polynomial order: 1
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Which model should we use on some data?

10 A

MSE¢ain = 0.0600

Polynomial order: 3
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Which model should we use on some data?

Polynomial order: 15
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MSE¢rain = 0.0243; MSE,,) = 456386.9249 (overfitting, “high variance”)



Which model should we use on some data?

Polynomial order: 1
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MSE¢rain = 2.5005; MSEy, = 2.0069 (underfitting, “high bias™)



Which model should we use on some data?

Polynomial order: 3
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MSEi;ain = 0.0600; MSE,; = 0.1056 (“just right”)



Which model should we use on some data?

Polynomial order: 15, L; regularisation with A =0.01
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MSE¢pain = 0.0508; MSEy,; = 0.1039



Training on test data is one of the worst
mistakes you can make in machine learning



